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SOUTHERN RAILWAY, CHENNAI DIVISION 
ost of Jr. Clerk In Pay Band Rs.5200-20200 and Grade Pay Rs. 

1st 16213%  from Matriculate 

Date: 19.07.2022 	 Duration: 2 Hours 	 Max. Marks: 100 

Instructions to Candidates 

Please read all the instructions carefully before making any entry in the answer sheet 

"Candidates should write their name, designation, office, roll number/staff 
number, etc., ONLY in the space provided and not anywhere else in the answer 
books or additional sheets." 

If any answer book is found with name(s) / roll number(s) in other than the space 
provided, the answer book will not be evaluated and the candidature will be 
disqualified. 

There will be 110 questions including 10 questions on Official Language. However, 
candidates should answer only 100 questions. If more than 100 questions are 
answered, only the first 100 answers will be evaluated. Each question carries one 
mark. 

Answering of questions on Official Language is NOT COMPULSORY. 

There will be negative marking for incorrect answers @1/3 marks for a wrong answer 

The answers to be written only as A/BIC1D (ONLY IN CAPITAL LETTERS as given 
In the question paper) and not in lower case. If written In lower case, the answer 
will not be evaluated. 

Part headings given for each part shown in the Question paper should be written by 
the candidates while writing answers. 

3. 	In the answers Corrections of any type like (I) cutting (ii) overwriting (iii) Erasing (iv) 
scoring off (v) modifying the answer (vi) writing the answer in text form, etc is NOT 
PERMITTED. Such answers will not be evaluated at all. 

Candidates are not allowed to keep mobile phones/Electronic gadgets or any other 
documents/papers in the examination hail. 

Candidates may take the Question paper with them after the exam is over. 

11 	It may be noted that in the event of any doubts/discrepancy, in the option given in 
Hindi/Regional Language question, the most apt option in the English version will 
prevail 

12 	The candidates appearing for the exam are requested to clarify their doubts about 
any questions/option, at the beginning of /during the examination, so that the same 
may be clarified I corrected / substituted then and there, for the benefit of all. 
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Choose the Correct Answer 

Choose the correct SYNONYM for Q. Nos I to 10. 

Rectify 
A. To command 	B. To build C. To correct 

Unaware 
A. Ignorant 	B. Negligent C. Familiar 

Tentative 
A. Portable 	B. Wry 	C. Provisional 

Alert 

D. 	To destroy 

D. Famous 

D. Prevalent 

A. inattentive 	B. sluggish 	C. Observant 	D. Careless 

Grievance 
A. 	Depression B. 	Complaint C. 	Abrasion D. Gratefulness 

 Replica 
A. 	Clone B. Original 	C. Pride D. Love 

 Annex 
A. Copy R Low 	C. Add D. Initial 

 Scared 
A. 	Secured B. Panicked 	C. Expose D. Reveal 

 Rescue 
A. 	Save B. Retire 	C. Define D. Defense 

 Taint 

A. 	honor B. Stain 	C. perfection D. respect 

Choose the correct ANTONYM for Q Nos 11 to 20 
 Feeble 

A. 	Strong B. Weak 	C. Fragile D. Small 

 Stringent 

A. 	Magnanimous B. 	Lenient 	C. 	Vehement D. General 

 Feasible 
A. 	Capable B. Impracticable C. 	Possible D. Reasonable 

 Certain 
A. 	Doubtful B. 	Definite C. 	Oftêrl D. Durable 

 Aware 
A. 	Conscious B. Abreast C. 	Ignorant D. Inform 

4 
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16. Reward 
A. 	Penalty B. 	Incentive C. Demotion D. Prize 

17, Exhaust 
A. 	Fresh B. 	Tired C. Sleepy D. Drowsy 

 Prohibit 
A. 	Failure B. 	Allow C. Achieve D. Outlaw 

 Roughly 
A. 	Exactly B. 	Unevenly C. Coarsely D. Largely 

20 Ambiguous 
A. 	Auxiliary B. 	Responsible C. Salvageable D. Clear 

Choose the correct oction grammatically for Q. Nos 21 to 40, 

21 He always stops his car at this stop  5:30 P.M. 
A. On B. 	In C. To D. at 

22 You are prepared  the test 
A. 	to B. 	with C. for D. at 

23 He jumped the river to save 
A. 	onto B. 	into C. to D. in 

24. Neither of the paintings 	sold. 
A. 	been B. 	were C. are D. is 

25 he is very rich, he lives a very simple life. 
A. 	After B. 	Although C. While D. As 

26 It was so noisy that we  hear ourselves speak 
A. 	won't B. 	cannot C. must not D. couldn't 

27 India works for in the world 
A. 	peace B. 	piece C. enemy D. fight 

28 You are  hour late 
A. 	a B. 	an C. the 	D. nore of the äheve 

2*9 it help you in your studies? 
A. 	Will B. Was C. Have 	D. Has 

30 1 think you should apologize when you  her 
A. 	see B. 	saw C. will see D. have seen 

31 We waited the plane toolc off 
A. as soon as 	B. when C. as C). until 
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32 	One million cars 	next year. 
A. will be produced 	 B. were produced 

C. produced 	 D. will produce 

33 	He got too tired 	 over work 
A. because of 	B. because off 	C. on 

	
D. for 

34 	I look forward 	 meeting you soon 
A. on 	B. at 	C. to 

35 	We 	a holiday last year. 
A. don't have 	B. didn't have 	C. won't have 

	
D. don't has 

36 	She ordered two cups 	coffee. 
A. in 	B. of 	C. with 

	
D. for 

37 	Her thinking leans 	democracy. 
A. with 	B. towards 	C. for 

	 D. None of these 

38 	1 need to 	how to fit the piano and the bookshelf in this room. 
A. figure at 	B. figure out 	C. figure in 	D. none 

39 	My father is in a meeting. Can you 	 later? 
A. call fter 	B. call at 	C. call back 	D. call in 

40 	He crossed the broken bridge ____ warning. 
A. in spite of 	B. in spite off 	C. on 	 D. about 

Choose the correct option (General Mathematics) Q. Nos 41 to 60. 

41 	The ratio of lOm to 10 km 
A. 1/10 	B. 1/100 	C. 1/1000 	D. 1110000 

42 	If marked price of a box is 10 and a discount of 10% is allowed then what should 
be the sale price? 
A.9 	B. 10 	C.11 	 0.19 

43 	Diameter of circle "d" is equal to 	(where r is "radius") 

A. r 	B. 2iir 	C. 4r 	 D. 2r 

44 	A boy has 120 balls of which some are white and the remaining are black. If the 
percentage of white balls is 45%, find the number of black balls he has. 
PL56 	B.66 	C.64 	 0.54 

45 	What is the three fifth of 100? 
A.3 	B.5 	 C.20 	 0.80 
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46 	0.05X0.01X5= 
A. 0.025 	B. 0.25 	C. 0.0025 	D. 0.00025 

	

47 	A garden has 6000 plants. 6% of the plants are of Mango & 3% of the plants are 
of Apple. What is the total number of other plants? 
A. 5460 	B. 5640 	C. 5464 	 D. 5660 

	

48 	What is 7% equal to? 
A. 0.007 	B. 0.07 	C. 0.7 	 D. 7 

	

49 	How many months have only 30 day? 
A. 4 months 	B. 5 months 	C. 6 months 	D. 7 months 

	

50 	The population of a town is 10000. Out of these 5400 persons read newspaper A 
and 4700 read newspaper B. 1500 persons read both the newspapers Find the 
number of persons who do not read either of the two papers. 
A. 0 	 B. 1000 	C. 1200 	 D. 1400 

	

51 	A river flows west to east and on the way turns left and go in a semi-circle round a 
hillock, and then turns left at right-angles. In what direction is the river finally 
flowing? 
A. North 	B. South 	C. East 	 D. West 

	

52 	If David's age is 27 years old in 2011, what was his age in 2003? 
A. 37 	B. 20 	C. 17 	D. 19 

	

53 	A class consists of 20 boys and 10 Girls. Average weight of boys is 44 kg. 
Average weight of girls is 38 kg. What is the overall average of the whole class? 
A. 39kg 	B. 43kg 	C. 41kg 	 D. 42kg 

	

54 	If you travel 60,000 mtrs in 240 minutes, your average speed is_____________ 
A. 15 km/hr 	B. 200 km/hr 	C. 20 km/hr 	D. 150 km/hr 

	

55 	'A' can finish a work in 18 days and B can do the same work in 15 days. B worked 
for 10 days and left the job. In how many days, 'A' alone can finish the remaining 
work? 
A.5 	 B.5.5 	C.6 	 DR 

	

56 	A sum of Rs. 12,500 amounts to Rs. 15,500 in four years at the rate of simple 
interest. What is the rate of interest? 
A.3 	 B.4 	 C.5 	 D.6 

	

57 	The perimeter of the rectangle is 20 cm. If the length of the rectangle is 6cm, then 
its breadth will be 
A. 4cm 	B. 8cm 	C. 10cm 	 D. 14cm 

	

58 	The simplest form of 15:25 is 
A. 6:10 	B. 15:25 	C. 0.75:1.25 	D. 3:5 
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59 	The age of father is 24 years more than his son. In two years the fathers age will 
be twice that of his son. The present age of his son is 
A. 22 	B. 18 	C. 21 	 D. 24 

60 	What should be added to -7/3 to get 3/7 
A. 21/58 	B. 50/21 	C. 47/21 	 D. 58/21 

Choose the correct option (General Knowledge) Question Numbers 61 to 100. 

61 	Full form of DTP is 
A. Desk top promotion 	B. Desk top pollution 

C. 	Desktop top publishing 	D. None 

62 	Under which tax policy, one nation one uniform tax was implemented 
A. 	Value added Tax 	 B. Goods and Service Tax 

	
Ak 

C. 	Sales Tax 	 D. All the above 

63 	How many sessions or sessions of parliament are held every year in general? 
A.1 	 B.2 	 C.3 	 D.4 

64 	Which train in India has the longest route length? 
A. 	Himgiri Express 	 B. 	Himsagar Express 

C. 	Vivek Express 	 D. 	Guwahati-Thiruvanthapurarn Express 

65 	One kilobyte (1 KB) is equivalent to 
A. 1000 bytes 	B. 1024 bytes 	C. 100000 bytes D. 10000 bytes 

66 	Who is known as the father of Indian Railways? 
A 	Lord Ripon 	 B. 	Lord Daihousie 

C. 	Lord Canning 	 D. 	Lord William Bentinck 

67 	Water cannot be used as a fire extinguisher to put out 
A. 	burning charcoal 	B. 	burning cloth 
C. 	burning oil 	 D. 	burning wood 

68 	Which is the highest civilian Award in India? 
A. 	Padma Bushan 	B. 	Padma Vibushan 

C. 	Bharat Ratna 	 D. 	Padma Shri. 

69 	Which of thefollowing is India's' first green railway corridor? 
A. Barmer to Munawab 	 B. Manamadural to Rameswaram 
C. Chennal to Manamadurai 	D. Purl to Visakhapatnam 

70 	The Narendra Modi Stadium is located in which place 
A. Gandhi nagar 	B. Ahmedabad 	C. Vadodara 	D. Mumbal 
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- 	71 When did the first passenger train run in India? 

A. 	16th  April 1853 	 B. 	161h  Sept 1853 
C. 	l6th  Aug  l853 	 D. 	161hJan 1853 

72 	Which of the following countries does not share a land border with India 
A. Bhutan 	B. Iran 	C.. China 	 D. Myanmar 

73 	From which country the game "cricket" originated? 
A. Australia 	B. India 	C. England 	D. New Zealand 

74 	In which of the following cities are located 3 zonal headquarters of Indian Railways? 
A. Guwahati 	B. Mumbai 	C. Kolkata 	D. Chennal 

75 	Who generally presents budget in Parliament? 
A. Prime Minister 	B. Finance Minister 	C. Home Minister 	D. President 

76 	In which of the following processes is oxygen released into the air? 
A. Excretion 	B. Respiration 	C. Transpiration 	D. Photosynthesis 

77 	The hearing range of human ear is 
A. 	20 Hz to 20,000 Hz 	 B. 	less than 20 Hz 
C. 	more than 20,000 Hz 	D. -20 Hz to 0 Hz 

78 	Which of the following is not wrftten by Dr. A. P. J. Abdul Kalam? 
A. 	Wings of Fire 	 B. 	India 2020 
C. 	Turning Points 	 D. 	India of my Dreams 

79 	The election commission of India hold the election for the 
A. The president of India 	 B. The Parliament 

	

C. State Legislative Assemblies 	D. All the above 

80 	Sangam literature is the literature of which region I state? 
A. Maharashtra 	B. Tamil Nadu 	C. Kerala 	D. Karnataka 

81 	Which is thesouthern tip of indian sub-continent? 
A. Cape Comorin 	B. Indira Bindu 	C. Calimero point 	D. None 

82 	What is the full form of CPU? 
A. 	Central Processing Union 	B. 	Central Problem Unit 
C. 	Central Processing Unit 	D. 	None of these 

83 	Which of the following is the largest marshalling yard in India? 
A. Mughalsarai 	B. Mathura C. Itersi 	D. Tondiarpet 

84 	In which of the following cities is the National Rail Museum located? 
A. 	Mumbai B. 	New Delhi 	C. Hyderabad 	D. Chennai 
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85 	A station where the rail lines end, is called 
A. 	Junction station B. Block station 

C. 	Way - side station D. Terminal station 

86 	A platform surrounded by rail lines from all4hefour sides, is called 

A. 	Dock platform B. Island platform 

C. 	Passenger platform D. Goods platform 

87 	Who was the first Governor General of free India? 
A. 	C.Rajagopalachari B. Sardar Vallabhai Patel 

C. 	Rajêndra Prasad D. Lord Mt. Batton 

88 	Diesel locomotives are built in? 
A. 	Bangalore 	B. 	Varanasi C. Perambur 	D. 	Chittaranjan 

89 	The Rajya Sabha is also known as 
A. 	The lower house B. The upper house 
C. 	The house of elders D. Chairman 

90 	Which of the following are listed under the UNESCO old heritage site? 
A. 	Ajanta Caves 	 B. Taj Mahal 

C. 	Nilgiri mountain Railways 	 D. 	All of the above 

91 	First passenger train ran betvieen which stations in India? 
A. Mumbai-DeIhi 	 B. Delhi-Thane 
C. Mumbal-Thane 	 D. Mumbal-Pune 

92 	Which of the following is the headquarters of the railway zone 'East Coast Railways'? 
A. Visakhapatnam B. Kolkata C. Hyderabad D. Bhubaneswar 

93 	Where is the Research, Design and Standard Organisation situated? 
A. 	Lucknow 	B. Bangalore 	C. Pune 	 D. New Delhi 

94 	Which of the following stations was formerly known as Victoria Terminus? 
A. Churchgate Railway Station 	B. Lokmanya Tilak Terminus 
C. MUmbai Central 	 D. Chhatrapati Shivaji Terminus 

95 	Railway Staff College is situated at 
A. Bangalore 	B. Secundrabad 	C. Nasik 	D. Vadodara 

96 	USB stands for 
A. Universe Service Bus 	B. Universal Sector Buffer 
C. Uniform Service Bus 	D. Universal Serial Bus 

97 	Mary Kom is related to which of the following sport? 
A. Archery 	B. Boxing 	C. Swimming 	D. Shooting 
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98 How many images are formed between two parallel mirrors? 

A. 	2 	 B. 	4 	 C. 	8 D. 	Infinite 

99 Where is the Headquarters of South Western Railway? 
A. 	Mysore 	B. 	Bangatore 	C. 	Kolkata D. 	Hubli 

100 Where is the Indian Railways Institute of Civil Engineering Institute situated? 
A. 	Pune 	B. 	Chennai 	C. 	Nasik 	D. Secunderabad 

101 What is the Official Language of Arunachal Pradesh? 
A. 	Hindi 	B. 	Bengali 	C. 	English 	D. None of the above 

	

102 	Which is the elementary Hindi course prescribed for Central Govt. employees? 
A. Pragya 	B. Madhyama C. Prabodh 	D. Govida 

	

103 	In which order are the Station announcements made? 
A. 	Regional Language, Hindi, English 	B. English, Hindi, Regional Language 
C. 	Hindi, English, Regional Language 	D. None of the above. 

	

104 	How many times are the Regular Hindi examinations conducted in a year? 
A. I times 	B. 2 times 	C. 3 times 	 D. 4 times 

	

105 	What is the Official Language of Union of India 2 
A. ThmiI 	B. Hindi in Devanagari Script 	C. Telugu 	D. Kannada 

	

106 	Who is the Chairman of the Divisional Official Language Implementation 
Committee? 
A. DRM 	B. ADRM 	C. SrDMM 	. D. SrDPO 

	

107 	What is the periodicity of the meetings of Official Language Implementation 
Committees? 
A. Once in 4 months 	 B. Once in 3 months 
C. Once in 6 months 	 D. Once in a year 

	

108 	What is the amount of Cash Award for Passing Prabodh with 70% or more 
marks? 

A. Rs. 1500 	B. Rs. 1000 	C. Rs. 1600 	D. Rs. 2000 

	

109 	Who is the Chairman of Town Official Language Implementation Committee 
(offices)/Chennai? 

A. GM/SR 	B. GMJICF 	C. AGM/SR D. AGM/ICF 

	

110 	What is the expansion for OLIC used by Department of Official Language? 
Official Language Implementation Congress 
Official Language Implementation Committee 
Official Language Impounding Committee 
Official Language improving Committee 

END OF QUESTION PAPER (English version) 
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SELECTION FOR THE POST OF JR.CLERK IN LEVEL 2- VII PC AGAINST 

33 1/3% PROMOTIONAL QTJOTA-CHENNAI DIVISION. 

**** ** * ****** * * 

Date of examination: 18.05.19 	 Total marks: 100 
Duration of exam : 2 hours 	 Total questions: 110 
Venue of the exam : Railway Higher Secondary School 

Perambur, Chennai -11. 

Instruction to Candidates 

mft 	 1i 

Answers for all the questions shall be written in the answer sheet 

only. 

 

Candidates are permitted to take the question paper with them after 

the examination is over. 

f 	 ldI 	 izr ftim 

In case of any discrepancies , the English version stands final. 

 

Question paper in Hindi also attached. 

"i 3NT 	1I.l,ct,I 	31'15b.9 	./c,&T.lI.l a-ld-q.L, çj1 f11T  3R 

54-'azhi 2F 3q# tT# qT ift f, rr Zft 31 	Iii c 	ir qT zrr 31lcc1 

q tgj" 

"Candidates should write their name, designation, office ,roll 
number/staff number, etc., ONLY in the space provided in the fly leaf 

and not in any of the page in the answer books or additional sheets." 

6) 	fft i 1JT/31idl a1 -GH 39 	,Ic1chI Er 31Iid q 	fi pu 

IdI 	, 

	 Z. 

CI 	37 	.III1d frr ,iiiiii 

WK 	Any names/roll numbers if found in the answer books or additional 

sheets, such papers will be disqualified. 

c1-c1I6 	ft t tV TV 39T 	 1 flT Zft 3TF-xrff I ZI1 t 

	

Tt 4T Tft 	T T9T 	r, 	39T zFT jicq iqi 	ft 11T 'lI'II I 

qfr # fir iv ifr ()ici () 3-T' 	IIdI (-Jr) JldolI (Er) 	4t.c4, 

T,TT # VZF zht Id 4 	3T 	 aiI 3ft (Er) Mñi 3T 

fr r ir 	I 	fir I iil 

In the answers to the objective type questions, no correction of any type 

is permitted. In case any correction is made , that answer shall not be 

evaluated at all for e.g., corrections made in the objective type question 
like (a) cutting (b) overwriting (c) erasing (d) scoring off a ticket answer in 
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multiple choice and ticking another answer and (e) modifying the answer 
in any way will not be evaluated at all. 

RBE No.196/2018 (PBC No.263/2018), t 1TT t 31a1I( 7rFF 3 	* 

oIIcJ-lc4,  3w fzTT iiivsuI Slc)c- 7rlU 397 t flv 1/3 3 	417 ¶V 7TVdIIl In 

terms of RBE No.196/2018 (PBC No.263/2018), there shall be Negative 
marking for incorrect answers. One third of the marks allotted for 
each question will be deducted for wrong answers. 

TFTRm t rr 3i1cti 	t tj rfr zFT 	100 3t 	er 11T ,iIvdIiI 

The question paper has 110 questions. The questions from 101 to 110 on 
Official Language are not compulsory and the evaluation will be made 
only in respect of questions for 100 marks. The candidate has to choose 
any 100 questions out of 110 questions asked. 

1. #TPT zFT 	T TraFrj7 tT rr t ? 

A. rrrr TFF.R77 	B.3-T 

C. 	Ich -I,IIdI D. 3iIc,t1ièct FUFF97 

Larst ocean on earth is 

'A. Pacific Ocean 	B. Atlantic Ocean 

C. Antarctic Ocean D.Arctic Ocean 

3i'13'l1 	RT 	T TITW 7TFT t] 

A. diI 	B. 	1r tew 7m 

C. 	 D.1I1 
Odometer is to mileage as compass is to 

A. speed B. hiking 
C. Needle tkDirection 	 xW 

rg 3TrrTt 	 7 	rrrTrI 

A. 3rg 	B. 3ft 

C. 	 D. UTWEF 
Optimist is to cheerful as pessimist is to 

A. gloomy 	B. mean 
C. Petty 	D. Helpful 
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Reptile is to lizard as flower is to 

A. petal 	B. stem 
C.marigold 	D. alligator 

Sponge is to porous as rubber is to 

A. elastic 	'soIid 
C. Massive D. inflexible 

f 	R zft 7rf~r 	v 	2 f1t 	 Tr *r ?t 35 

	

Tl Tr 12 tut # 	ziTT fT TziT zu? 

S 	A. 456 f?I. 	B. 552 

C. 482 	 D. 556 f.4r. 

The speed of a car increases by 2 kms after every one hour. If the distance travelling in the first 
one hour was 35 krns. ;ha/tas the total distance travelled in 12 hours? 

A.456kms 	52kms 
C.482 kms 	D.556kms 

VEF fr 600 9ft. FFEft FT6F itt 5 	 9T t, ?t 37 c14lçJ g1 	EVT 

c1'-fl 	7rr? 

A.3.6 	B.7.2 
C. 8.4 	D. 10 

A person crossey 600 m long street in 5 minutes, What is his speed in km per hour? 

A.3.6 	'-17.2 
C. 8.4 	D. 10 

e1-GH (fE1T ) I 

' 

A. 600 	B.750 
C. 1000 D. 1250 

A man walkin g at the rate of 5 km/hr crosses a bridge in 15 minutes. The length of the bridge 
(in metres) is 

A. 600 	B.7,&0 
C. 1000 	0/1250 

9. 	rr # 7nr 3 	r zri 
Find wrong number in series: 
15, 25, 30, 51, 85, 90, 115 

A.30 
C.85 	D.115 
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3flIt*I Find wrong number in series: 

2, 8,12, 20, 30, 42, 56, 72 

48 	B.20 

C.42 	D.56 

Q. no. 11 to 15 :Each question has an underlined word followed by four answer choices. You will 
choose the word that isa necessary part of the underlined word. 

harvest 

A. autumn B. Stockpile 

C. tractor Dcrop 

desert 

A. cactus B. and 

C. oasis D. flat 

book 

A. fiction \} pages 

C. pictures D. learning 

language 

A. tongue B. sjang 

C. writing J?J. words 

school 

	

A. student 	B. report card 

C. test 	D. learning 

Instruction forQ. NO 16 to 20: In the following questions choose the word which is the exact 
OPPOSITE (an antonym) of the given words. 

The antonym for FRAUDULENT 

	

A. Candid 	B. Dipct 

C. Forthright '19. Genuine 

The antonym for ENORMOUS 

A. Soft B. Average 

C. Tiny D. Weak 
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Of 

18. The antonym for COMMISSIONED 

A. Started 	B. Closed 

C. Finished 	D. Terminated 

19. The antonym for QUIESCENT 

A. Active 	B. Dormant 

C. Weak 	D. Unconcerned 

20. The antonym for CULPABLE 

A. Defendable 	B. Blameless 

C. Careless 	D. Irresponsible 

21. "One Hundred Years of Solitude" '-a- i'-i *AWW Wt~:r ? 

The novel One Hundred Years of Solitude was written by 

A. H.t1.Wells 	. 	 B. Salman Rushdie 

'6abriel Garcia Marquez 	D. Arundhati Roy 

22. Toricelli 	r1c*I 3l'& 1zi t ? 

A.31itie B. iqlt 1c.'t 

C. 	 D. 

22. Toricelli invented 	, 
/ 

A. Automobile 	B. Barometer 

C. Stethoscope 	D. None of these 

23. 	t 1il UW T3iT t ? 

( 	A.ic' B. UERr C. rrr D. 	c~ 

SUNILCHETTRI is associated with 

tball 	B. Hockey 

C. Chess 	D. Athletics 

fTtiTH tT EFT 3r--4J ZMr 	? 

A.f. (k,a-c 	B.f. t. 3I7. 1d154h. 

D. Zr. 	1c1I.'&(1Ie1 
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24. Who was the President of the Constituent Assembly? 

. Dr.Rajendra Prasad 	B. Dr BR.Ambedkar 

C. C.Rajgopalachari 	D. Pt.Jawaharlal Nehru 

25. qvuv T7 21ii 	1.ç41zhtr 

A. 1c..o-I 	B.IT MT 

C. 47W 31IJ1i 	D.lo1kS 

Who is the current President of USA 

A. Bill Clinton 	B. George Bush 

C. Barak Obama 	D. Donald Trump 

cl *r fZFi 

(1 1  Eff 1'C1 	-'-I 

zr 1+i 

, 1i 

B. 	C. 3fffTT D. 

26. Blueberries cost more than strawberries. 

Blueberries cost less than raspberries. 

Raspberries cost more than both strawberries and blueberries. 

If the first two statements are true, the third statement is 

A. true 	B. false 

C. uncertain D. None of these 

Instructions for Q 27 to30: Here are some words translated from an artificial language. 

27. gorblflur means fan belt 

pixngorbl means ceiling fan 

arthtusl means tile roof 

Which word could mean "ceiling tile'? 

A. gorbitusi B. flurgorbi 

C. arthflur Vpixnarth 
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hapllesh meang cloudburst 

srenchoch means pinball 

resbosrench means ninepin 

Which word could mean "cloud nine"? 

A. leshsrench B. ochhapl 

C. haploch 	'Xhaplresbo 

agnoscrenia means poisonous spider 

,- 

	

	delanocrenia means poisonous snake 

agnosdeery means brown spider 

Which word could mean "black widow spider"? 

A. deeryclostagnos B. agnosdelano 

Qagnosvitriblunin D. trymuttiagnos 

migenlasan means cupboard 

lasanpoen means boardwalk 

cuopdansa means pullman 

Which word could mean "walkway"? 

A. poenmigen B/

Poenforc 

peisel 

C. lasandansa D  

-4i # # WtF ir 	i t I 

Which one of the following is not a prime number? 

A.31 	B.61 

C. 71 	11,  91 

ft 	TT fr 1056 	1V, 11Ic'II ZT t 23 	TT t1Ut: 	11 

fiii*i 

What least number must be added to 1056, so that the sum is completely divisible by 23? 

C.18 D.21 
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1397 x 1397 =? 

1951609 B. 1981709 

C. 18362619 D. 2031719 

TNHr 	3ii 	Z1F3 	r zftr...... tj 

The sum of first five prime numbers is: 

A.11 B.18 

C.26 0.28 

lr 31t *r 	r 	ir ri ..... .I 

The smallest 3 digit prime number is: 

A. 103 ' tV  None of these 

C. 113 	D. 107 

A sum of 12,500 amounts to 15,500 in 4 years at the rate of simple interest. What is the rate 
of interest? 

A.3% B.4% 

D. None of these 

 

3F1* tiir 1ic1ø:l 

A fruit seller had some apples. He sells 40% apples and still has 420 apples. Originally, 
he had: 

A. 588 apples B.00 apples 	 41 

C. 672 apples D. 700 apples 

 

T,E it 3FT 3W 20 k Jr I 	r 	 zrr t ? 

The average age of husband, wife and their child 3 years ago was 27 years and that of 
wife and the child 5 years ago was 20 years. The present age of the husband is: 

A. 35 years 1340 years 

C. 50 years D. None of these 
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3ftfrr aTIT 43 kg 	fr, B ZFT ai 	i tl 

The average weight of A, B and C is 45 kg. If the average weight of A and B be 40 kg 
and that of B and C be 43 kg, then the weight of B is: 

A.l7kg B.2Q.kg 

C.26kg 'ø'.3lkg 

40. 	600 	ft 1~ci 	 r t, 	 fr zFr iii I-ii i?cii. # 4.6M 

tr r 	ir r?r? 
I- 

40 The angle of elevation of a ladder leaning against a wall is 60° and the foot of the 
ladder is 4.6 m away from the wall. The length of the ladder is: 

A.2.3m B.4.6m 

C.9.2m D.7.8m 

Q 41 to 45. In these series,you will be looking at both the letter pattern and the number 
pattern. Fill the blank in the middle of the series or end of the series. 

41 SCD, TEF, UGH, 	WKL 

A. CMN 

B. UJI 

lJT 

42. B2CD, 	BCD4, B5CD, BC6D 

A. B2C2D 

E3D 

C. B2C3D 

D. BCD7 

43. ELFA, GLHA, ILJA, 	, MLNA 

OLPA 

KLMA 

LLMA 

QALLA 
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44. CMM, EOO, GQQ, 	KUU 

A. GRR 

B. GSS 

ss 

D. ITT 

45. DEF, DEF2, DE2F2, __, D2E2F3 

DEF3 

D3EF3 

D2E3F 

'La. D2E2F2 

46. M7 zh7 	 r r rm tr TiT t ? 

A.r- 1TT 	-i1 	I.c1d 	B. 	Ictd-fl. 	 iJ1IdI.( 

C. 	 1$ 1I 	LN 	D. dI131øjdL  

Which train in India has the longest route length? 

A. Howrah - Jammu Tawi Himgiri Express 

B. Kanyakumari - Jammu Tawi Himsagar Express 

'e(Kanyakumari - Dibrugarh Vivek Express 

D. Guwahati-Thiruvanthapuram Express 

A. TTt 	B. a-iatic 

C.ciI 	D. iic*-, trr 

On which of the following is the longest railway bridge in India located? 

A. River Ganges 	B. Vembanad Lake 

C. River Brahmaputra 	D. Chilka Lake 
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48. -$i 	 3 rzr Ic 1T ? 

A. 7tUft B. JG1i C. 	 D. 4çc4,ilT 

In which of the following cities are located 3 zonal headquarters of Indian Railways? 

A .Guwahati 	B. Mynlbai 

C. New Delhi 	' Kolkata 

49. 	-o1id 	f-fT 1t 	 Iia1 	ioi.cT ? 

C. 	 IT D.ia-1,- 

Through which of the following group of states does the Konkan Railways run? 

A. 'jaharashtra - Karnataka - Andhra Pradesh - Kerala 

'IMaharashtra - Karnataka - Goa - Kerala 

Maharashtra - Karnataka - Kerala - Tamil Nadu 

Karnataka - Goa - Kerala - Tamil Nadu 

50. tw# #37 zFr çJ-flo- DRM tF 

Who is the current DRM of Chennai Division 

A. Shri Naveen Gulati 

B. Shri R K Kulshrestha 

èhri Mahesh PiIlai 

D. Shri Anupam Sharma 

- 	 51. fur 	r 	iii GM tr t ? 

Who is the current GM of Southern Railway 

-A. Shri Rahul Jam 

B. Shri S Mani 

C. Shri Mahesh Pillai 

D. Shri R K Kulshrestha 
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Fl 

T tF2r 	 ? 

How many divisions are in Southern Railway 

A.4// B.5 

V D. None of the above. 

Q. 53 to Q. 60 Pick the most correct word to among the options to fill the blanks. 

The grapes are now ......enough to be picked. 

A. ready B. mature 

\pe 	D. advanced 

54.1 saw a ......of cows in the field. 

A. group 

C. swarm D. Flock 

55. To err is ......to forgive divine. 

A. beasly

n  

inhuman 

natural 

The ruli ,party will have to put its own house ......order. 

\K1 	B. on 

C. to D.into 	 ( 

During Christmas theops are ......of people. 

A. busy 	'óull 

C. crowded D. bubbling 

Success in this examination depends ......hard work alone. 

A.at B.o7 

C.for 
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59. He passed the examination in the first class because he 

A. was hard working for it 

B.

;ad 

pked hardly for it 

worked hard for it 

D. was working hard for it 

60. Life is to death as pleasure is to 

A. poverty B. sfing 

C. anguish fXain 

Q 61 to)5: Find the correctly spelt word. 

61. X'fficient 

Treatmeant 

Beterment 

Employd 

62. A. 	nger 

Bóassenger 

Pasanger 

Pesanger 

63. A. Excessive 

Exccessive 

Exxcesive 

Excesive 

64. A. Benefitted 

B./nifited 

'Benefited 

D. Benefeted 
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A. Forcast 

B. Forecaste 

7For 

caust 

ecast 

J-4!i'4- 3iibi zhT vziw 	r, 	'-ic-. èc1-dc. 

fr 3irr w 9d fzff 51T9T t I 

While using Microsoft office, which command is used to 'paste' the previously selected 
text 

A. CTRL + P 	(CTRL + v 

C. CTRL + S 	D. CTRL + C 

3iii 	 r, 3IT9 frr c-iii 

¶r 3lTT W 	oi 	fl 

While using Microsoft office, which command is used to 'SAVE' the document you have 
been working at 

A. CTRL + P 	B. CTRL + V 

'C/'TRL+S 	D. CTRL +C 

Find the odd one out from the given alternatives. 

A.Sweet 

B.Bitter 

Find the odd one out from the given alternatives. 

A.Square 

\4rcle 

C.Rectangle 

D.Triangl 
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0~1 

Find the odd one out from the given alternatives. 

A. Light 

C.Heat 

D. Sound 

Find the odd one out from the given alternatives. 

A.Dahlia 

B.Marigold 

v 'omegranate 

D.Chrysanthemum 

Find the odd one out from the given alternatives. 

1m a to 

B.Potato 

C.Carrot 

D.Onion 

Cairo is the capital of which country? 

A.1i'< B. W C. 31I1U5 D. %,i'l1i 

B. Haiti 

C. Iceland D. Georgia 

- 	 74.1d1a1 ft T 	u5r-mtr t7 

B.o1d- 

C.1 ,( iA U5 D.cIc1c4I 

Copenhagen is the capital o'hich country? 

A. Norway 	'6enmark 

C. Netherlands D. Latvia 
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75. Which of the following word best express the meaning of HAGGLE 

A. Crisis B.ta each 

C. ignore Igain 

76. Find the suitable word close to the word ZENITH 

7inn 

	

dle 	B. Under 

çacle D. Nadir 

77. Choose tle word nearest in meaning to AMBITION 

V/Desire B. Proclamation 

C. Plan 	D. Decision 

78. Which word is more less synonym of ABLE 

A. Not able 

/able 

Ability 

Not worthy 

79. Choose nearest maning of TAINT 

A. Soil B. Stain 

	

C. Dirty 	'rrupt 

80. Find neyst meaning of OUTWEIGHT 

Wurpass B. Perish 

C. Venture D. Control 

81. A feature of MS Office that saves the document automatically after certain interval is 
called 

A. Save 	B. SaveAs 

14--4Uto Save D. Backup 
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TFVF 	bi , rr Captital Letters VFl Small Letters* ièi'l I• 'icW. 

JIJZ~dj fT 51TRT ? 

A. 3rar t 611al B.tr Ebt W47qaI 

C.F 	 t ccla1 

In MS Office, Which feature is used to make selected sentence to All Captital Letters or 
All Small Letters? 

A. Change Letter 	B. Change Sentence 

is 	 ''hange Case 	D. Change Word 

VFVF  3I11I 	L44.t 	- c1 	ic1 	 1c*l L,ldI 

13rf cr 	 d' 

Name the application under MS Office software bundle, that we use to create audio 
visual presentation. 

'V1PowerPoint B. MS Excel 

C. MS Word 	D. MS Access 

3Thrr cñr 	u 

The options Potrait and Landscape comes under_ 

A. Paper Size 	\91age Orientation 

C. Page Layout D. Page Rotation 

ztf TIT iT 	èc - 	jc:c*, 

Which shortcut make selected text Italic? 

Ctrl + I 	B. Ctrl + A 

C. Ctrl + S D. Ctrl + V 

ir tr # t,'1M+R1t 	zFT rrr 	 CI('l 3ItZff 

TZIT t l 	 3lT9T t I 

A.fR 	B. 3 aT 74V 

C. 3 -wus 	D. 
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86. The Mughalsarai junction has recently renamed as Deen Dayal Upadhyaya railway 
station. It is located in which state 

A. Bihar 	\VUttar Pradesh 

C. Uttarakhand D. Delhi 

87.T 

A. 	 B. 	r%Pr 	 C.+ct 	D.-MIJ-I 

The liquid metal is 

A. Bismuth 	B. Magnesium 	 ç4ercury 	D. Sodium 

tT 1 	1 t I 

A.RT 	 B.fr 	 C. 	r 	 D.l1 

Which of the following is not a primary colour 

Yellow 	 B. Blue 	 C. Green 	 D. Red 

3T1TRT # 31l14r 3Wt 

Acid present in gastric juice is 

	

.'ulydrochloric Acid 	B. Citric Acid 	C. Sulphuric Acid 	D. Acetic Acid 

TR? 

8 kilograms is equal to how many grams? 

A. 8Qgrams 

''000 grams 

80,000 grams 

800 grams 

91. CN G zFr 	cr 	1 

Full form of CNG is 
/ 

A. Common National Gas #e 6ompressed Natural Gas 

C. Common Natural Gas D. Cirtified Natural Gas 

 

A. Uiz4 i 	 B. iifri 

C.ft35ft 	 3Uft  

0' 
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D~i  

Which energy is converted into electrical energy by a solar cell? 

A. Chemical Energy B. Nuclear Energy 

'Golar Energy 	D. Magnetic Energy 

VEF qFFT r r Z17 bctøl Zh7 TF-F 	r ZFT 9 e# Eft 	irr Id-t I 

What is the probability of getting a sum 9 from two throws of a dice? 

A. 1/6 

B.1J8 

D. 1/12 

: 2,1,(1/2)j1/4),... 3PTlTa1-G1 	TTl7 

Look at this series: 2, 1, (1/2), (1/4), ... What number should come next? 

f 	 : 7, 10, 8, 11, 9, 12, ... 3TTRT FFaIT 4T eUM 

Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next? 

C.12 

D. 13 

A tT B r trrt t 	t 	T. 20 t1 30 1 	3 	icii ti zf 
d 	f 	 1bioi I FTW c'l II ? 

Two pipes A and B can fill a tank in 20 and 30 minutes respectively. If both the pipes are 
used together, then how long it will take to fill the tank? 

A. 10 mins 
B12 mins 

15 mins 
20 mins 

Page 19 of 21 



97. Altruist MEANS.. 

A. One who is lover of beauty. 
B One who never stops. 
\Q(A lover of mankind. 
D. A person who hates mankind 

For Q 98 to Q100, choose the best sentence correction of underlined phrase/word. 

98. I am tired as I am working since 7 O'clock in the morning. 

A. Iwas working 
& .1 have been working 

I had been working 
I will be working 

99. The furniture in this room are made of teak. 
A. have 
B.had 
G1s 
D. None of above 

100. You should avoid to make such stupid mistakes. 
avoid to made 
avoid make 

f-: avoid making 
D. avoid to have 

Instructions for Q 101 to 110 are Related to Official language policy. They are NOT 
compulsory. 

101. Fill in the blanks. In terms of Article 342 (1) of The Constitution of India,  
language in_______ script shall be the official language of the Union. 

A. DEVNAGARI, HINDI 	B. ENGLISH, ENGLISH 

GJ41NDI, DEVNAGARI 	C. HIND!, ENGLISH 

102. As per Official Language Act, which of the following state of NOT in Region A 

A. BIHAR B. HARYANA 

,Z. PUNJAB D. HIMACHAL PRADESH 

103. As per Official Language Act, which of the following state of NOT in Region A 

A.GUJRAT B. ANDAMAN AND NICOBAR ISLANDS 

C. DELHI 	D. UTTAR PRADESH 

104. As per Official Language Act, which of the following state of NOT in Region B 

A.MAHARASTRA B. DAMAN AND DIU ISLANDS 

C. PUNJAB 	\ '.UTTAR PRADESH 
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105. Communications from Central Govt. Offices to persons in Region B shall be in_. 

A. HIND! ONLY 	 B. ENGLISH ONLY 

C. ENGLISH with Hindi Translation. 	Vither HIND! or ENGLISH 

106. Communications from a Central Government office in reply to communications in 
Hindi shall be in_. 

HIND! ONLY 	 B. ENGLISH ONLY 

C. ENGLISH with Hindi Translation. 	D. Either HIND! or ENGLISH 

107. Communications between Central Government Offices between one Ministry or 
Department and another may be in  

A. HIND! ONLY 	 B. ENGLISH ONLY 

C. ENGLISH with Hindi Translation. \pither HIND! or ENGLISH 

108. Communications between Central Govt Offices in Region B or C may be in_. 

A. HIND! ONLY 	 B. ENGLISH ONLY 

C. ENGLISH with Hindi Translation. 	Yher HIND! or ENGLISH 

109. All name plates, sign boards, letter heads, inscriptions on envelopes and other 
stationery etc., shall be in  

A. HIND! ONLY 	 B. ENGLISH ONLY 

C,/ENGLISH and HINDI 	D. Either HIND! or ENGLISH 

110. Which amendment act inserted provision regarding authoritative text of the 
constitution in the Hindi language? 

Amendment Act, 1987 

56th Amendment Act, 1985 

51st Amendment Act, 1982 

None of the above 

****** ** * *** ***** *** ****** * ***** ** ***** * **** **** 
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